JS o

123F

¢
o
A
K

A P VA P OV LA N LA N L

&
&
&
&
&
&
&
&
&

o X ’V‘ Mg g0 Dol il 39 E! oLl Y0
qv/IYi# avd (0) P pla!

Olpl ool (559402
$3d 3 Dladad agle &5l5

195 el s Gla s

[\Y“W JL»)_ J"'.} 3.2..»9.0"4 ..\.&)kfuu)lf 6\.&0),.3 609)9 u,.o)ij

PVPCRR |4 ERPLE W FRIR | 1008 5 J s Sl |
¥ 3l g o | dlocal Slgo ylais
Sles U | ayleds 31 | Jluw Olaad P! olge (TR
T \ Y. (uadS) ot g gogee OU5 | )
88 3 Yo bl | ¥
As a8 Ya lae Caeglie § Snelind WSilew! | ¥
15 A AL ST grpaile 2k g pudle elial (2l | F
. \F Yo Saaliyoeny g DYl Sille [ &
188 ) Ya SrSoslt ot | #
ROV PR PR e PR X F o 18 Ale 50 (g0l 0!

Bpngn by ey e b g g Jone Ol s i e bl gl A ol ol 1 (90 3T 51 0 o (e g S0) g 5 A 0 e i 20 ol

O (A P LV L O o 1 I I (2 P 0 B P (A P A B




Y axio 123F (11 05) gy SilSn  avidigeo (905

R Q,‘“)i FOWE 30 Ll jeax pac U).mu -J._l_s Jeas Ol>jaie 0 Laol § Slaxic T pas ‘G"‘; wdbalo e

) PERPICK - TP IRV 1 DV PRI PP K31 PO PR—— il

(il ) s g ogos Hbj

PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

10-

Fierce winds and deadly waves were only one ~——----------—- many explorers like Christopher
Columbus confronted when sailing to unknown lands.

1) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers ------=--=e-- -~ to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This ————--—----—- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the --——---eeeeeeen effects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —-----v--—— -
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would —----eeceeeeeee after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain --------—------ in ways that can
Keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for -------—---——-- pain from
cancer and other chronic conditions,

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —--—- -- atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.

1) favorable 2) valid 3) obedient 4) traditional
The post office has promised to resume first class mail -—=-=-—=-———-—-to the area on
Friday.

1) attention 2) progress 3) expression 4) delivery
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f T B: oze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) —===eeeeeeeeeez 1970, she
completed her first performance with Hommage a Delacroix. (12) -=-=------—-- was
the beginning of an artistic career (13) =—=—ememmemmmex to the oneness of art and life.
(14) ~—=mmmemmmmmmm_actions and performances on streets and public squares. followed by
her "living environments" and the "windows", (15) in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with  4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems). leaves, and seed pods. The residue can be ploughed directly
into the ground, orbumed first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials left after the
crop is processed into a usable resource. These residues include husks,
seeds, bagasse, molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of vears. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content, soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent. soil-available N is fixed (called
immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time, the nutrients fixed by soil microbes
and humus are released and available to crops. Nutrients from residue are not fully
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16-

17-

19-

20-

recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that ———---ceeeeeeee .

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility
3) soil-available N is fixed by 1 per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that -——---eeeeeeeme,

1) seed pods are among field residues

2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, -=---e-eeeeeees,

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground

We understand from the passage that ——-----eceeeeee,

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest t0 —=--—emeeeeees,
1) ‘root’ 2) *branch’ 3) “straw’ 4) “trunk’
PASSAGE 2:

Agricultural drones are drones applied to farming in order to help increase crop
production and monitor crop growth. Through the use of advanced sensors and digital
imaging capabilities, farmers are able to use these drones to help them gather a richer
picture of their fields. Information gathered from such equipment may prove useful in
improving crop yields and farm efficiency. Agricultural drones allow relief for the
modern day farmer. Drone technology can cut down labor requirements and reduce
resource requirements (such as fresh water and pesticides). Farmers are also able to
use drones to retrieve aerial-view images of their fields: there are currently three
different types of view provided to the farmer through a drone. The first is seeing the
crop from a birds’ eye view; this particular view can reveal many issues such
as irrigation problems, soil variation, and of course, pest and fungal infestations. The
second view that is able to be received from the drones is something known
as multispectral images: these images are used to show an infrared view as well as a
visual spectrum view. When these views are combined, the farmer is able to see the
differences between healthy and unhealthy plants. This difference is not always clearly
visible to the naked eye, so having the ability to see the crops from these views can
assist the farmer with assessing crop growth, as well as crop production. Additionally,
the drone can survey the crops for the farmer periodically to their liking. From a
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21-

22-

23-

24-

choice of weekly, daily, or to each hour, the farmer is able to use this information to
show the changes in the crops over time, thus showing where there might be some
“trouble spots™.

The passage does not mention that a drone’s ‘bird’s eye view’ can show —--eeeceuee,
1) *soil variation” 2) *fungal infestations’

3) ‘yield variety” 4) ‘irrigation problems’

The passage points to the fact that drones can --------—-,

1) assess crop growth for nearby farms

2) remove the trouble spots on the ground

3) can help crop management and rotation

4) survey the crops even on an hourly basis

It is stated in the passage that drone technology... --=---—=---,

1) provides up to ten different types of view of a spot

2) does away the need for the use of the naked eye

3) requires very little energy to function efficiently

4) reduces fresh water and pesticide requirements

The passage mentions that the farmer is able to see the differences between healthy and
unhealthy plants through a(n) -----------,

1) close aerial-view image 2) multispectral image

3) visual spectrum view 4) an infrared view

The word ‘relief” in the passage (underlined) is best related to --—----—--,

1) *warning’ 2) ‘comfort’ 3) ‘safety’ 4) “profit’
PASSAGE 3:

A hedge trimmer, shrub trimmer, or bush trimmer is a gardening tool or machine used
for trimming hedges or solitary shrubs. Different designs as well as manual and powered
versions of hedge trimmers exist. The power source of stand-alone hedge trimmers can
be human power, gasoline, or electricity. Manual hedge trimmers are designed as
large scissors or large pruning shears. They do not need anything to operate and are
cheapest/most environmentally friendly. Motorized hedge trimmers allow work to be
done faster and with less effort than manual ones. Their cutting mechanism is similar to
that of finger-bar mowers. Powered trimmers are generally designed with safety devices
such that they work only when both of the operator's hands are on the handles. Gasoline-
powered trimmers tend to be more powerful but can be heavier and more difficult to
start. Electrical trimmers tend to be lighter and less powerful (than gasoline variants) as
well as less polluting/noisy, vet still require an electrical cord with most types (if not
equipped with rechargeable batteries). Tractor-mounted and tractor-driven hedge
trimmers also exist, but are not that common. These machines consist of a moveable arm
(hydraulic boom) with a large hedge trimmer attachment at its end. Their cutting
mechanism is similar to that of finger-bar mowers. Such large hedge trimmers are ofien
confused with tractor-mounted reach flail mowers (booms with flail mower
attachments). which appear similar due to the use of booms. And in colloquial
language both. tractor-mounted hedge trimmers and reach flail mowers, are imprecisely
called hedge cutters, or brush cutters. In contrast to tractor-mounted hedge trimmers.
reach flail mowers have a different cutting mechanism. and are not only used for
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27-

28-

29-

30-

trimming hedges. but also in several other fields of application (mowing taller grass.
road verge cutting, ditch maintenance, etc.).

The passage mentions that —-----eeeev,

1) manual hedge trimmers are smaller than pruning shears

2) gasoline-run hedge trimmers do not work with one hand

3) large hedge trimmers have two tall booms as attachments

4) most stand-alone hedge trimmers run only on both gasoline

It is stated in the passage that ——-,

1) electrical trimmers do not produce any noise

2) shrub trimmers are faster than bush trimmers

3) a hydraulic boom has moveable arms at its end

4) reach flail mowers are also called brush cutters

The passage points to the fact that tractor-driven hedge trimmers and motorized hedge
trimmers --—
1) are used mainly in road verge cutting (of taller grass)

2) produce as much power as large electrical trimmers

3) are lighter but less powerful than gasoline trimmers

4) look like each other in their cutting mechanism

According to the passage, -------——-,

1) electrical trimmers can run on rechargeable batteries

2) stand-alone hedge trimmers cannot be used manually

3) motorized hedge trimmers cannot usually work slowly

4) tractor-mounted hedge trimmers include reach flail mowers

The word ‘ditch’ in the passage (underlined) is closest (0 =-weeeeem-,

1) “lawn’ 2) *light-post” 3) ‘channel’ 4) *farm-gate’
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